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QUESTION 1

Evaluate the following statement: 

CREATE TABLE bonuses(employee_id NUMBER, bonus NUMBER DEFAULT 100); 

The details of all employees who have made sales need to be inserted into the BONUSES table. You can obtain the list
of employees who have made sales based on the SALES_REP_ID column of the ORDERS table. The human
resources 

manager now decides that employees with a salary of $8,000 or less should receive a bonus. Those who have not
made sales get a bonus of 1% of their salary. Those who have made sales get a bonus of 1 % of their salary and also a
salary 

increase of 1 %. The salary of each employee can be obtained from the EMPLOYEES table. 

Which option should be used to perform this task most efficiently? 

A. MERGE 

B. Unconditional INSERT 

C. Conditional ALL INSERT 

D. Conditional FIRST INSERT 

Correct Answer: C 

 

QUESTION 2

Given below are the SQL statements executed in a user session: 

CREATE TABLE product 

(pcode NUMBER(2), 

pnameVARCHAR2(10)); 

INSERT INTO product VALUES(1, `pen\\'); 

INSERT INTO product VALUES (2,\\'pencil); 

SAVEPOINT a; 

UPDATE product SET pcode = 10 WHERE pcode = 1; 

SAVEPOINT b; 

DELETE FROM product WHERE pcode = 2; 

COMMIT; 

DELETE FROM product WHERE pcode=10; 
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ROLLBACK TO SAVEPOINT a; 

Which statement describes the consequences? 

A. No SQL statement would be rolled back. 

B. Both the DELETE statements would be rolled back. 

C. Only the second DELETE statement would be rolled back. 

D. Both the DELETE statements and the UPDATE statement would be rolled back. 

Correct Answer: A 

 

QUESTION 3

Which statements are true regarding the hierarchical query in Oracle Database 10g? (Choose all that apply. 

A. It is possible to retrieve data only in top-down hierarchy. 

B. It is possible to retrieve data in top-down or bottom-up hierarchy. 

C. It is possible to remove an entire branch from the output of the hierarchical query. 

D. You cannot specify conditions when you retrieve data by using a hierarchical query. 

Correct Answer: BC 

 

QUESTION 4

View the Exhibit and examine the structure of the ORDERS and ORDER_ITEMS tables. 

Evaluate the following SQL statement: 

SELECT oi.order_id, product_id, order_date FROM order_items oi JOIN orders o USING(order_id); 
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Which statement is true regarding the execution of this SQL statement? 

A. The statement would not execute because table aliases are not allowed in the JOIN clause. 

B. The statement would not execute because the table alias prefix is not used in the USING clause. 

C. The statement would not execute because all the columns in the SELECT clause are not prefixed with table aliases. 

D. The statement would not execute because the column part of the USING clause cannot have a qualifier in the
SELECT list. 

Correct Answer: D 

 

QUESTION 5

View the Exhibit and examine the structure of the EMPLOYEES and JOB_HISTORY tables. 
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The query should display the employee IDs of all the employees who have held the job SA_MAN at any time during
their tenure. 

Choose the correct SET operator to fill in the blank space and complete the following query. 

SELECT employee_id 

FROM employees 

WHERE job_id = \\'SA_MAN\\' 

SELECT employee_id FROMjob_history WHERE job_id=\\'SA_MAN\\' 

A. UNION 

B. MINUS 

C. INTERSECT 

D. UNION ALL 

Correct Answer: AD 
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